
Lec 7
* Alt depution for L.T.

T:V>W is LiT. off
T (GIN, + .. + CIVK) = CITCU,) +

* Matrix far L. T.

Ex. T: R' -> PR$ is a LT and Matrix multiplication.

Te,) = [:]

#Matrix properties

Let A be matrix,

Amen. amen

sometimes we think of each colume

u, vER", CER. Then
1. ACu+V) =
2. A(cu) = cAn

So-matrix multiplications are L.iTs. Namely T(x) = Ax,
there's bijection between L.T. and the matrix muttiplication

* Some pecial L.T.

For any vector spaial V.
- The zero trans formation
- Identty transtornation I: V »V via To (v) = U.

Let TiRM aRM, SiR''''" R
Then (SoT)Lu) = B(An)

VU,,., VEEV, CHICKER, ...+* CATCUE)

Av =
[an... Ain

:= v.
fain

as a vector.

An + AN

TiR" -=R$

# L.T. compositions.


